4533
B.A. {Prog.)/1
Philosophy- Logical Reasoning (In Lieu of MIL)

Duration: 3 hours Max. Marks: 75

(Write vour Roll No. on the top immediately on receipt of this question paper)
Note: Answers may be written either in English or in Hindi. but the same medium should be used

. throughout the paper.
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Attempt all questions
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Section — A
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Q.1.(a) How are propositions classified on the basis of quantity and quality? Discuss
6
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Explain the rules of obversion with examples.
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tb)  Reduce the following propositions into logical form. 4
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i.  All farmers are not rich.
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i, A few accidents are disastrous.
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ii.  Only scientists are genius.

iv.  Lawvers are never honest.
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i.  All books are expensive.
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1. Some institutions are not self-managed.

.(a) Test the validity invalidity ot the following (any no): 6
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Prove that minor premise must be atfirmative in the third figure.

1) Explain and illustrate 1he fallacy of four terms and the fallacy of undistributed
middle. 4
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Fxplain the ditferent figures of syllogism with examples.
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3. Use truth 1ables to find out whether the following are 1autologous . contingent or
contradictors (am mo) : 5x2=10
FTERE B 77 TwrRe TR W Yediye 8 ¥ P9 8 9w 29T dedl @R &
wF W 7Y
i) li~pogl.tgo~nr]oipr~1)



i l(p2g) . pon]2ipvigvn)

(i)  (qv~q)>(q.q)

Q.4 Determine validity/invalidity of the following using shorter truth table method
(any wo) . 3x2=10
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(1) {pva) D~ (~p.~q)
(i) ~(p.~q) o~ (p.q
(i) (p.q)>r
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Q.5.(a)  Detine any rwo of the following:
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(i) “tp>Dq).tg=p) interms of disjunction and negation.
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(n)  "(pvg)or interms of conjunction and negation.
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(b) IfP.Qand R are true and A. B. and C are false. determine the truth or falsity of
the following tany nro) : 2 x2=4
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Q.7 (a)
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Construct iorna proel of aldity for the tollowing arguments ¢ oney ;6
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Symbolize um nvo of the following propositions using quantifiers and propositional
constants; Ix2=4
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Intellectuals are never greedy. {Ix. Gx)
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Some aquatic animals have lungs. (Ax. LX)
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Some people are not good citizens. (Px. Gx)
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What is an informal tallacy? How would vou differentiate between the fallacy of

ambiguity and the fallacy of relevance. C} arify. 8
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Explain and illustrate the tallacy of false cause and the fallacy of complex
Juestion.
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[dentify and explain the tallacy committed in amv nvo of the following: 7
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(1) since I am not [ving it follows that Tam telting the wuth.
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(i) Taking life is wrong. Solciers take life when at war. so so.diers al war are
offenders,
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(i1} Just wateh out what {1 do to you if vou break 1hm vase!
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